Bk RR KT RPN F R v
Z T-1-1 2 ER 25T RIED » FALF ¥ F7) 4

AR B HEIS T

114 2245 | (GERERBERETHY] » NA/HBELS FERGE VSR s IER/ g T
D)
EEHE | sy | gy | IR - I W
1B~ B45% 145 5—
- g | 10 | L6
I 1 (R EBHS A .55 18 | 2.8
1 B 2.5 9 Befecs: | 199
=
LEZEEHAE | 1.5 5958
T 1475 REETET 25 2%% 1313' 1.6 &f
Q. 4 g 2.4 i
- 8 (FEE b
1. [EEE LR B | 1.55 17 %EP
. ! pe IINEE TR
: 155k i 1.6 £ o
2. (A .68 | L
= 2HHET BF | 25518 |34 AT
SHE | AREGEES o B
NG
3ESHEIL0-1 | 359 K
MR 10 OPOFS B
ANE B
}DJIJ N /’i""‘
1.5 W5E = A %%fg
o L& 1~ R
1.3 5 4 | 1.46 .
LF ) srmrpe e R Yt
= 2.4t Er - 2.4 ff EX
EHEE 2.5 15
.18 e JNBE(6
3 TR £)
.
1.BEEE ST il | 156 1.10 £
2. 8452 NERLR A | 11~12 | 2.8 Hi
4 | |3 g;%‘ﬁff@%f/ b liE 3.48 £
4.5 o B | 8 4.8 &
5.8 3.5 4 BTRE 3~48 | 5.8ff




455 8 TR | 358
EUH_ o 7~8 ﬁ
SHL0MITRE |, o
B
14~15
i
5.5
18~19
i
1.(EFFERRS | 1B =mENSE 1.5 1.6 fii
5 th 4~53 |
1.55—H
N -
LRy |
0 L3 i
1'52\ 2 =gy | 1.5 &
2EE | w1 gys | SF 3 | 2.6H
3B | 3m . wEEG 14 - 3.5 £
ey | 15
16 ~ 20
i
1586+t
Vg~ HIGHFHARY pic
N \%“—"‘Z\“ Vvl
Litg |, TEEE2 2B g
\ 3R B #H o
2-$_|J:El ﬁi:ljl‘/% s 2-3 E'\D
v | BT 3.5 19 3 5 &
B.HIsE |4z wamic | g -5 Hi
4'%;‘1 % N %%%%i{ﬁ 4 s 1 . 4.5 E[j
24
5.6
1.5 12
i
L L Wigmgy | 20 10
AL o & BAESE Ao 13
2%(? 2 A/ NsE 1 3.5% 2.4 Eﬁ
3. 55 3.5 8 Werp | 17~18 | g g
4. FelpsE % B e
47 R 3 | 458 -9 B
11-15
i
1.3t LETETRE | 1138 136
2.5 | (TERMERL 2568 |, o
3 g N+ 3.4 3.8 Al
Afe=fag — . N . E[“[
4 $Es 2EBAETT  BHEE | 9398 =
5 Y gkt . %ﬁ“ 4.8 i
IRH BHREE - H . 85
- 14~15 | O-8H0

H - itk




3.%5 1 ByTlUALR
GHER
4.5 6 BITHEIPIE

piC

5.7

&

5 = A | 1O 10
SEE) 3 e
%
=
|Vt EE MYERIFEEZRE | 4.9.18 3 &
- i
% —
| ViEEE MYERIFEEZRE | 4.9.18 3 &
i
F
1
=
5 E
=
; E
=
A E
=
| B — (LA L1
. B 25EEN 1 B SE1- -
1-%/\/& . N L4
wEp | = | mtmoksE® 2 | 4 188
s et N %i—ﬁﬁt
eSS ES PAANIES
= 1. % W (3 &)
N —aRE A EEREa | 1. 5\ .
1. A X BE
| T | mesess| om | OF
%
A 1. 80 | 1. 412 -
T 7t —m i 1.3 &7
AR |
| HeEe ﬁ”‘g*%“ 2.8.16 3 &
< 7 yic
% =
e B
T | preme EEX:‘;E;EBE’E‘ 2.8.16 3 &
H=TF iFEllj
i .
I fgEE
oA == g — N :KI:.//I\4
1ESHT Y | 1561 o 4
REEHHE 150E L oz |LOH | DEHE
%%fi 1.F:E . FSHIT . 3916 2.6 £ /éﬁ)
°/ Jiws |8 a6 | EER
o TR SRS




. sruEERFzE A | 1.5 12 .
1.@;_1/% ﬁﬁfﬁﬁ ?\L@ l .6 ED
1B DU T A R 1.55 13
1.its FHoft 12~14 i .
)
1 EEHETE R
SRR F K
RESHIT  WE
FRG R —
3apEEr ke | LRI
A TR Ak | R.EE 47
T 3.%5 6
45514
1. B 4FESHIL | g 1.5 £
2.F2E NCEFNRET | 5519 | o
3. EH:E Al i 3.5 {5
4 [FZE o B R
Elits BEpE | O 4.5 &
5. Eﬁﬁg N 3~4 e
. EEE \ 5.5 g
6.8 6~84 | 500
:@» A oo — N S * Elj
T.HEE 6.55 2 EETIRE 7.5 7.8 (i
B.(HHBIE | g3mrme .5 | 14~15 8.21 fii
2z B —— A 5 .
= 4 BT i)
8.5
7.5 8 BT | 1~4 -
Al 6~8 i
8.{HEF A B B T
2%\5 HE . H
— g R
ﬁﬁgﬁﬁwﬁﬁ
158 LBSRTRE | 1.10 £
VEHRE | e oy |11~12 | 2.5
B w ] E%’ .

F/\GR £4)

H
/INRF LA
E




J.(EREEARE | 2B i) 3.9 &
= RGEREIL A | 9 45 19 4.6 65
TZ*AQE:EJJ TR el Fﬂ% i
SAEEI g -
3BT ey | S
B - BT HE | 1~3
=T 4.5
LEGETAERR | g
GEE) 1 T(rEs =
{F
LEGE | 1 prmmaotit | 14638 | 1.5 6
RE |23 wimEity ’ . ’
N "3 | 316
[E{m}
[IE AT NN
& 1.5 7
LEEE | 2. B EaER 2 ; 7? 1.5 &
R.47E | EWTEHIER | O o
g e | RAEEHTE 84 2.4 1
TSHH 3.Unit 2 Do You 3% 9 }E 3.2 /E':ﬁ
4.[8/ | Have a Headache? 4.5 4 - 4.2 &5
=2 4.5 T A | < B
S EEYE AL | 0
g dipier
1. Exieny
KPR A T
2T 3 L
‘ O . 13
1t o oaft | 11H e
UERE | EAFTHRK? 2.4 5”2 5
2 32HIT & . .
3- £ El55 s e 2 E'EJ oA
1 ; BT }E% B
-HRAH T -2 3.5
5.0F | astEigEmkT | 118 -
i 4.Unit 3 What | § &5 ] — e
: Do You Do on % 5.5 =
Weekends? 5 2@
5.— it
1SR
1. 1 1.3
1t | oS mEa | o P
apE | gems | oo
2.~ HRT 1—5%§ oy
A 143
%
e el | FEHEEE | 5.14.17 3 #fi
i
i ey RIEHEEE 3 i

5.14.17




-

E
‘F
E
T
E
T
E
‘F
1M (Lt sy
o | dEEhEEE 1 ER | 155 1- ” ;
. £ V&S | cmpoemmme |40 1.8 &0 Fj:ifﬁ
KIEH)] e i =b 4
Va3 - /INHE (6
B &)
\ i }'E%;:%ﬁ 1.5 1.3
~ 1.t %guﬁ'ji;gﬂzﬁi 13 8 i
o | mERameE | D )
b \mgsg | 3.7.15 3
- i
o | mERameE | D )
T | sresE | 4 3.7.15 3 i
- i
=
‘[(‘
1R s Tk
L 1.6
L 2patmass | 1555 g-g o) R
2. EE o 2R6M | w4
| 3AE 3.5 EREMEK 351 | AR /J\Ef (6
’ o s 5 m | 5.4 Hi &)
4./ 5E TR 4-53 5 1@
IBIENE 5. 8% LB TERY S il A SR
N
5.2 2 B~ 1 &R
LSRNV L E]
BRE
P P}
1[5 P T g | 1em |
| 2 2.55 23 | 2.6 &5
3.4E7 2EGHIT B | 31 | 3.6
4.45E HHeT 47559 | 4.6 6




A A H

455 = FRERE T
e
LIRS
L |ammasm [T E g
AN 2'% \tﬁ Virion
PREFS | B
\ 3—sr=gy | 3B 4 o,
3118 % 4555~ |>1E0
4.4t5 - 4.3 i
_ 7
45 T HUTEE
i
" 1.55-+H
1. T8 LK -
RE+=
2 RAEERE ik )
1.E% 3555~ | L3
PRSEAS Zﬁ;ﬁﬁ%ﬁm 7 2.3 &
3.itE A 4514 |3.36
4.itw smET rEe | ~1638 | 4.3
5.4t&r HEe 5.5517 | 5.4
5.5/ Avhg | 40 B
HEBER
lﬁ;ﬁéﬁﬁ%ﬁ[ﬁé@ 1.5 4 -
O SR :
LN | O O
HEEE ”
3 Eg—m | oo LT
EEE ~20 74
lite LB Y
2.3t E ST RIS 31 | Bl
3 Gk 5. SAEREE T 2.4 61
e S P | 45530 | 3.5 A
T HPRAA ~ B3R 4.5 £
5.% EeE - F R 5. @%’5 515 &5
6.4 T S 18~17 | = e
7. S 6..55 2 BTIRA - 6'16/_,_5[3
8 feppgn | 3 MTAE | B 7.8 i
ERRTNRE 4 ik gz g . | B-66
H 7.5 8 BITESHIT S
Bl 6~8 i
8. LT = s
B 7.
14~15

ViC




~J 0O
It
(0]
& g

1812
i
1-%ﬁ$ﬁ%éﬁﬂﬂ’\] .53 4
KER i
2.5 BTSN
(1B e
13t 3.4 = HLERAN 16%% 1.2 &
9.4t B AE | 9.9 &
- & T TS & Bl
3.4tE HESR 4513 | 3.4 6
Rt 5.5 -BTHAL | ~164 | 4.4
5.5 %ﬁ;j%M% 5.15 £
- Bt EER - EER G / - Bl
ik 1~334
6.5 A L TCIRAEAT .
weEE e ey | 6B T
W i
1.5
ZEmasn | A
1 S .26
1. e | FREEEATE L \ o
2%;_ D) AN 1.3 &f
3 | 3Ry 3B 3 | 2.3H
4'%1; g 5 3.2 ffi
5 1 s uEEee | 4520 | 4.1 6
6-3& 5% BEELE | E 5.2 &7
-OLEE | 6.Unit4 How Many A7 o
Koalas Are There? 5'?% 3 6.2 &
5
6.5 18
i
o TR 1.2
1.1<_|_l: B _“ﬁnx 22 -
ot | EmAEle2 | JUE 13
e 25|
p e | & PRI +i8 2.3
B e (3518 | 6
S.UGE | #r . mmierir |48 3 | 356
S| s, |51 |44m
= ould You Like for . o
a Dinner? 1374 5.2 ffi
6.5 =FT fFliF | 5.55 14 | 6.1 67

Kiress

A




6.5 15
i
1. &mas
fEE el
288 T . 1.13
R -y
SEIUE A "o
HRET 2.5
3EEE T 533 1.3
R 3.5 g
SR \ 2.5
BBRESC 9 ﬁkk &

\ 4SRRI 4.5 35
1t ST 154 e
2.[F3E HHaR i 5.5 B
3. G S;ﬁif&ﬁ | 16 45

SR . : s B[
LEGE | ommr 6.5 5.5
5.[03E gt | 178 .
6.5 —HERE 7.5 65
TEE | SEEEE | 19 -
8.1 4 L 8.5

E+ AT \ 7.5
9.5 iE! 3~5 74 &5
10.84% T EEERERTT 9.58 8.9
11.5 AR 10~11 &
bR ?B?Ejﬁﬁg LK ?E
SEHFRES 9.6
12. 1 sa—sean | 101
i S 2 (R %12 10.6
13.%% 9.5 B | 140 &5
10.56=8r . o
sy | o288 |
11 550U 12. 12.5
A E % 16— £
12.= ~ B 20 /A 13.6
4. 5158 K 13. &5
11&%‘7__‘5—% s 1~3
SEER \
EE 1 il
1yt 1.5 BT 1. A3
2.5 | BEFRHYIIRE | wruE Rl
3EE | AERELE 2.5 | 20
4.32E 2ERET: | 6 =t
gk | EEMRR 3.5 3.5
. ETREE - - fifi
B mEomem | 138 a,
T.EEE 3. ESE T 4. 5.12




kR B

e

8.5 5.5 ]
PLRRER 7.8 6.18
4 Unit 3 How 1112 féﬁ
Much Is the T-shirt? i) 7.12
5.Unit 4 6 Joren féﬁ
What’s Your -
Favorite Season? 13~18 8.8
Lk s e £l
’Tﬁ@%‘%—ﬁ &
S HI=E N
e | Lo
75 1 By 8.5
HRaEE 14~15
8.5 6 T i
Wl
b = 9%‘@%%% IREHE %12 7 3 &1
E G Y IREHE % 12 74 3 &1
]
—F
o1 L r ey | 158 12 e
2 SR A i 1.6 &
S i e
3 E ERTEAR
¥ >
IS = EES
XA 4 e fr
%—zii S /DR
= LI | ok > L
ol 1eme wEhEsEEn 1 R | 155 1— - P E—
5 N BT 2 | 498 L8R | fpoga
Wt N ERTELR
i oy
- =i
6
—F
P E 95!?@5%%% i‘ﬁ%éﬁ%ﬁ% £ 13 H R £
E oL PR AR LW EEHNE £ 13 H R £
1
T S
ApEL g
| LB LEGHT BT | ) sz | 1.667 | oMo
Q. BT 0% 53 | 2.6 =
2.5 FER g | PO | <08 e
FANE LR TR | o VR
2 o 1.5 16 o, S
| LEE i 166 |
Zﬁi/ﬁ 2%£3§%§@7}2jﬁ 2Pk 18 2.6 ,éﬁ E\@ié\
i i LR
Hit
3 £ [ 1.HZA 1 EY RS 1.5 | 1.3 €5




1L.HA 1. e R 1.55— | 1.3 6
Lg—grg—s |15
FREE-F R | 1~3
BRI B | o o
ECE T aNie il 1;3 \
1.EE 2.5 1 Byt &Ll \ 1.15 &
2.4 g 28 | 6~83 g gy gy
4?@2 gﬁk% tiﬁg%% B 4.8 i
: H:j\\ 3.5 8 ErEEIy 4.18~19 : s
S5.47a75E) | | i 5.9 &
4.5 10 TR -
BT RO | O
BoE®) 2 B | 17~19
= pici
sy |14 11
iR 12 74
2.5 LB TS AR B
RS 2.5
1.8 SR TTEEET | 14 - 15 1.2 &
- BEEEENR TANT | g 2.2 &
LS W S < BiI
3. B sEsRTAE | O 7T | 3.5
4. G e st | 48 11 456
5.8 4 A 5.16 &
23 5'% 6 %‘ﬁd\ﬁkﬁ 5 = SR
B B
6.8 DR BT | 11004 | OO
A TR A -
6.55 9 BITIRNY |
fse; - 5 10 me | 658
LAY 18 - 19
i
N Lgtpeaamt | L3 11 .
1.5F[zE S . 1.
g —EWE pic i
1.5 23
LEMUEES | 9 3.
AR B TSl .
1-%% ggf%‘é’é R 56~ 1.5 /élj
B 2.— R E 19 74 2.4 fn
3.2 i ~ Bt 3.3 | 3.36
4 isE 3.5 REEE |56 | 4.2 &
4.Unit 4 Whose 45518
Backpack Is That? ; -
i
1.8 lgEalE T 1.5 1.5
WG | WEEEE | 6 A
BERE | eiu 2.5 2.5
ATGE | mmerE 113 B
5.5%% S R 3.5 3.5




6.94K | ARBTERST 15 i i
7 B 3 ERHUL - 4. 4.
. EE T s 55
8.5 423 B el I
9.5 N 6~98 |
10.85 4. Unit 2 How 6.5 6.3
. Do You Go To e £l
g School? 12 ﬁ,\_ﬁ_ 74
11.8 B.55 —BT% 755 o
£ FATRR 33 i
12.55 6.5 = BTt 8.5 88
Py fﬁjﬁ@ﬁﬁ | a~5m A
1355 | mumymemmks sl
= %2 BT | 6~T 10.8
% 10. .
8. 2HILT | 45 8~9
B v 11.8
9.4 3 iyt 11 &
INBIIRR A it 12.6
10.58 4 B¢ 5 i
EEERIER | 17~18 13.6
i i e
11.55 8 BT 12. Bl
R _—
12804 |
LR Vi
SEE 1 A4 13.
ey %
13.BT=k | 17~19
RS \
SEB 2 T a
1785 Just do it
1.55 BT \1.15
Ry TER A =R e 1.3
LRI RS R.5F £l
2B 174 2.5
FLEESR 3.5 £
Litg | B OREEE ) o 3.5
2B | amer. | am| @
3. EzE FOEHER 514 4.5
4.3 B IREIFA 5.55 i
5.5z | WUEEIT | 13~18 5.6
6B | i i
7B EIGRE A 6.5 | 612
8.8 A 1~3 i &
B =HTH 78 7.12
PGLIIESE | 7713 £
6.5 1 Bty - 8.8
A A U e
7.5 5 BjEE 8.4 g
HefeE 14~15




8.5 6 WorE | A
i
P i %’fék%%% T&Eﬁ#?&% 12 4 £
| MR REINBEE 12 4 £
%
LBENEARIASERRS L S am 54 AR TTY o 2B S 73 e

(halis
2. %P"F %E FEIR {F%%E-a 13 F%ﬁil'z heny %’E Pl ?'j‘iﬁ"g:*‘“ l—}—“f"‘zJ ’F&Et‘;"
3.<114 # @ & 3 453 2 B9 Fofp- KT %a“@’v‘*“’%"ﬁﬂ >l RY L E 2
Ry (L% i)“l“”v'li?fﬂ‘ﬁ SURT AR RPIARFE S B2 BBV %
ﬁi&—ﬁ%ﬁﬂﬂi")_ F%(’ T*'\’f-&@»%agfl’&‘a%{&yglé‘é—g&l fﬂfr’sbfgbbt’&l «':-'aﬁ_&o
LB E RS TEY ) E- & R R I R




